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e 1 Maths By Pradeep Sir i

Ql In the given figure find the angle of
¢ABC. .
fee Ire A3 & LABC &1 T4 SiTa HifAel
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Q2. In the given figure, what is the value of
LIML24L3%4L48445=7
&l 918 3piA A, L1422+ 23+ 24+ .5 &1 AT &A1

g2
m

(C) 360 (D) 450
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Q3. In the given figure, £.BAC = 70°, LACB =
45° and 4DEA = 140°. What is the value of
.BDE?

& 91 anpfd &, LBAC = 70°, LACB = 45° @I
.DEA =140° | 2.BDE &1 Tl AT £?
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Q4. In the given figure, EF = CE = CA, What s
the value of LEAC?
a o A EF=CE=CAE a ZEAC &I
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Q5. In a given figure, If AD = DE = EC = BC

thenzZA:4B=7?
ResefdmfRaAafR AD=DE=ECc =BC R A}
¢A : 2B BT ATl T EPM?

[ J@e:s

- (FER (D)1:2
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Q6. 2 sides of triangle are of 4 cm and 10 cm.
If 3rd side is length of ‘a’ cm then which is

correct value for a.

v Ao & 31 oA 4 Aft. qam 10 A Fh

g1 ageiare afd &t saarg ‘o' . B,
ANaBTBA-ATATA T £ ? ;
(A)a>5 (B)6cac12




A
. Q7. In a triangle ABC, O is any point inside
N the triangle then which one of the following

LN, T bty i Sk o e
\% aﬁaajlamasammt? |
ﬁg 2(0A+0B+0C)>(AB+BC+CA)
(OA+0B+0C) <(AB+BC +CA)

[Ao]BY> A &
4C) 2(AB+BC +CA) > (OA + OB + OC)
Hod > AC _(D) (AB+BC + CA) > (OA+ OB + OC)
Bof+loc] > RC

B Maths By Pradeep Sir i N
&

X(Ro+80+00) > AR+ Ac+Re
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Q8. ABCD is a quadrilateral AC and BD are
its diagonals then which one of the

following is correct?

ABCD U® dUqafai ¢ 3fl2 AC @21 BD 38 al
fA®ul g, al fAeet A A Saa HUa T 82

A) (AB+BC+CD +DA) > (AC +BD)
sag éAB+BC+ CD+ oAg <2(AC +BD)
(c)BothAandB /2T A 3iZB
(D) None of these [ 35T & &3 olel
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1S+ 17, X

l51+-:r.2'7 %
AT +3* > & 89
x> €\

(’I>8J

E 4 )
IS 417 > X

5"1 )xz'

Q9. The 3 sides of an acute angled triangle
are 15,17 and x cm. if x is an integer then
how many such trian%es are possible ?

. fdbeft &1 2 dta 15 &t 17
aaﬂzﬁaz{faaﬁfl xcasqw%?gﬂ@aﬁma

135428 ) x* fRofe Hara gl
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L

4

|6
] > 15
.

J

Q10. If the perimeter of a triangle with
integer sides is 32, what is the largest
possible length of the longest side?
zﬂ%faﬂﬂ1qm*gswuansﬁfnﬁkfaqﬁaisruﬁhnn:32
¢ O JEA TS AT BT Hord HTel a1 EI91 ?

(B) 16

()17 j>///\\<i\\> (D) 18
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Axb = 2Y

Q12. If a and b are the lengths of two sides of
a triangle such that the product ab = 24,
where a and b are integers, the how many
such triangles are possible?

af a 32 b et Ae 6t 2 oot za wbR &
f& ab = 24, WET a 31T b YuIfes &&= g, at eA
flsaat e Zara & 2

(A)12 (B)18




s 1 1
' T . . '
2t b ™ Q13. Which of the following represents the

sides of an acute angled triangle?
fAsst & A A, v ga BT Raw &
s Bt gefards - "

O
7,8, 10 3 Yqicd loo (A)-G.—Gr%* (8)7,8,10

T ha>ipe {(C) 5,12,13 l (D) None of these
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I at+ dt >y ¢ 29 Ql14. Two sides of a triangle are 12cm and 15
— cm long and the third side is integer, then
I , 15 ,|x] what is the largest value of third side for

which tri- angle is acute.

- ﬁraﬂfa 2t a{erTe lzaaﬂ aem1s At 2
’DH"“”“S>I ajmuasqurfa; at dtadt ofon &1 A
ufﬁmmm 2N anfds A sgeraion

3eqy x> fRa@ar?

(A)17 (B) 18

‘\ lE (D) 20
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9 2 2 Q15. Which of the following combination of
a b 2C sides results in the formation of obtuse
angled triangle?

2 BT Ay & Iva A ol &
a +bo=c2 fAefaf@a daa A Sraa daaa Jgl 2 2

R 671
i (D) None of these

RS+ <\

1L +35 S

€1 ¢
\{\ & \i

F
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Q15. Which of the following combination of
sides results in the formation of obtuse

angled triangle?
Bl A & sl A ool &
fRefSfAa daiar & Biaa Jaios Jd g ?

(A) 6,7,13 (B)5,6,8

(C)4,5,6 (D) None of these
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QI16. In an obtuse angle triangle the length
of side opposite to obtuse angle is Kcm and
length of remaining two sides is 12 cm and
17 cm. how any such triangle are possible ?

T felas ST R A 3ifeles ST S AT 6l
;;;Kz}zﬂtaﬁ 3T & 3fwAT 12 At 3 17

g1 faet fRafe Hara )
(A) 7 (B) 8
(c)s (D) 10
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Q17. In AABC, <A = 68°. If | is the incentre of
the triangle, then the measure of BIC is:

AABC & £A = 68° 81T | fRe(e1 &1 3ia Hz &, at

oot P ¢BIC & AT F1d H
o
(A)12a° | (B) 68°

(C)148° (D) 54°
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Q18. If one of the angle of a triangle is 64°,
A- - then the angle between the bisectors of the

E” ézﬁ} ;}g%»%og mis;r ;?ugt"lg guas 64° 2, at 31T
&l 3iafil® & AAfgeaAs & 9 &1 ST

g
(A) 100° I (B) 122°

n

1) <  (c)9e° (D) N2° T
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Q19. In the given figure, the angle bisectors
P of B and C of an isosceles triangle intersect

- at point O. Find the angle BOC (in degree),
bo + ﬂ? when 2ABC = Z/ACB = 75°

- Horftanpfa A, R & v 3z C
& m@mgﬁ;w £1 &BIUT BOC &1
aATat (f23ft ) it B¢, d LABC = LACB = 75°

ﬁ 2>
(A) 105] (B) 147.5

8 e

Qo+ 15 5 jos (€)1860 (D) 170

cb-‘
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A

Q20. In a AABC, the bisectors of 2B and C

meet at O. If £BOC = 142° then the measure
of LA is:

AABC & £B 3 ¢ & Haifganais faeg oz fAsa
£1af2 2.BOC =142° £ Al LA &1 AT FATd Hel

(A) 52° G

() ne° [(o) m\{

%;(: %(\ L‘\:LQL(

]
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& Q21. In AABC, AB and AC are produced to

LA » Points D and E, respectively. If the bisectors

o\o+ = of «CBD and BCE meet at the point O and
¢<BOC = 57°, then 4A is equal to:

AABC &, Asaﬁ?Acaﬁmal f?‘;zoahzeaai
o derar wrar gl afe .CBD (BCE &
8 A . m@mﬁgwﬁaﬂ% 3T .BOC = 57° ¢,

dl LA &1 AT SiTd &<
D \) 93° (B) 57°
- Yo- 58
(c)eee] . = (D)nae
0 —' =33
X, Jo- A 3
AL k- |
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Q22. In APQR, PS is the internal bisector of 4P
meeting Qrat s, PQ=16cm, PR =22.4cmand
QR = 9.6 cm. The length of SR (in cm) is:
APQR &, PS, S T2 QR & AT a1ST 2P &I
yiafde R 2, PQ = 16 cm, PR = 22.4 cm

WQR 9.6 cm 2 snﬁm(cmﬂ)

lr - Q.6 —
o A -+«~ G, (B)ad
S S g g (©a (D) 6

- 53]
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/D

Q23. In AABC with sides 6 cm, 7cm and 8cm,
the angle bisector of the largest angle
divides the opposite side into two
segments. What is the length of the shorter
segment?

AABC &t ofeiTe 6 Aefl., 7 A<ft., 3z 8 A, 21
dqd a3 &1 HATGAHTS TS dTS! 3{GAT
aﬁﬂ?ﬂﬁaﬁamtlmmmm

(A) 24/5 (B) 21/5

K{%am) (D) 56/13
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Q24. In a triangle ABC, D is a point on BC
such that % — z—?. If 4B = 68° and 4«C = 52°,
then measure of .BAD is equal to:

. AB _
BﬁaﬁABcﬁomacmﬁmﬁg%ﬁi L=
59 af2 /B = 68° 30T £C = 52° @l LBAD T AT

m -
(A) 60° :EYP% B W [f(a) 30°J
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Q25. In AABC, AD the bisector of LA, meets
BCatD.IfBC=q,AC=band AB =c, then BD
-DC =

AABC &, LA &1 HATgaTHAS AD & Wl BC &I D
wfAsaigialkBc=a, Ac=b3lZAB=cE a
BD - DC fAsf3fada A A fhas aerag gomn ?

(A) — (8)

b+c
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Q26. In AABC, D is a point on BC such that
AD is the bisector of A, AB =1.7cm, AC =
7.8 cm and BC 13 cm. What is the length (in
cm)ofDC?

AABC & D, BC U2 Ua B fag 2 f& AD, A &1
HATGHTAS g, AB = 11.7 @3ft, AC = 7.8 A3t 32
BC =13 33t g, atpc Ht Farg (A A) =g 2

(A)5.6 . . (B)7.8
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: (13 °) Q27. PQR is a triangle, whose area is 180
cm?. S is a point on side QR, such that PS is
the angle bisector of LQPR. If PQ: PR = 2: 3,

then what is the area (in cm(B) triangle
PSR?

. PQRT® fAaf ¢, s fawe 180 At 215,
T 3 3 g wa%mm ¢ fEdPs, .QPRUZ
| PQ:PR =2:3 g, al fAa

2 Psnane?m(aaﬂ)a}m%’
X (A) 90 l

- w (C)1a4
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Q28. The perimeter of AABC is 24 cm and its
side, BC = 9 cm. AD is the bisector of Z/BAC
while | is the incentre. Al: ID is equal to -

AABC &1 ufRfAfA 24 At 2 3T 3861 efvn BC =
9 At 21 .BAC &1 FAfFaToias AD 2, wald |
3id: Pow &1 Al : ID T -
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A 2

LA] Q29. In the given figure, ABC is a triangle.

% The bisectors of internal 2B and external 4C
intersect at D. If 4.BDC = 48°, then what is
the value (in degrees) of 2A?

& uf apfd A, ABC vH A Bl B &I
2 - mﬁasaanmaﬂam@angaai Lowz

ufdede Hea 21 afe .BDC = 48° £, al 2A &1

aTa (fft ) Far 22

%5
K
0
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Q30. In a triangle ABC, AB: AC 5:2.BC =9
cm. BA is produced to D, and the bisector of
the Angle CAD meets BC produced at E.
What is the length (in cm) of CE?
fAs{st ABC #H AB: AC = 5:2, BC = 9 cm £I BA
@ D d& FBIAT ATATl ¢ 3T HIT CAD &I

AT deTs 918 BC & E U2 fASar 21 ce &t

5a1s (cm ) SITd &

(A) 6 (B)9

(c)10 (D)3
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E - LA ¢
-4

Q31 In AABC, 4B = 72° and 4C= 44°, Side BC
is produced to D. The bisectors of 4B and
LACD meet at E. What is the measure of
£BEC?

AABC &, £B = 72° 312 .C= 44° 81 3fwT BC, fAsg
D d& deIs wrdl 21 «B 3T .ACD & fRamois
fisg e R fASA g1 BEC HI AT TATE ?

(A) 58° (B) 46°

o
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Q32. If the altitudes of a triangle be 3,4,6
flnd its in rodlus

L. - *'""" & B34 3,4,6 2 At 34 Ao

A TR . mqaﬁ%maﬂn o

[ _ : (A) 3/4 B) 4/3

? -~ 2 + _11_ + —(L—
(c)e/7 (D) 5/4
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Q33. If the given figure point | is the incenter

of AABC then find EC.
fée ate 3 & af? 1, AABC &1 3iea: g £ al EC

&1 Saarg Aird HifAe)
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Q34. If the given figure CE - BC = 6 then find

%EEJ the value of BE.
fee sre A= & af? ce-BC = 6 € al BE &l Saard
S1d Hifael
(A) 12
g ?5@ B) 18
(Le= 2] &5«‘*‘5“:;‘8
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35. fRe e fAa & ~BAC = 120° 311 AD, 2.BAC &1
AD-AB  AExAC
®Ivl FaAfgemeis & | af === 3R

>2‘10 ZEDC = £ECD &, &l 2B mmmﬁﬁm

2. (A) 40
“[(BY20

3 (D) 80
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36. If the following figure, AD bisects angle
BAC. Find the length of BD.

faest 3pfd A AD ST BAC &1 FaAfganfaa
&edl £1 8D &l saare sita HifAv)
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37. What is the inradius of the a triangle

whose

B sideare 13,14, 15.

E' “*ﬁ“ By W fAs(w &t 3i@: A= sa &, afk IHH
fisiY afoime warer: 13, 14 3112 15

A)5

8
P

f‘“?'x\\xa\xlx'lﬁ AL (€)3
ad - - (o)s
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38. PQR is an isosceles triangle with sides
PQ=PR=45cmand QR=72cm.PNis a
median to base QR. What will be the length
(incm) of PN?

. S PQR FATRATE Aot & fATH? afATE PQ = PR =
45 & .3ft. qen Qnaf;z a.3ft. 21PN mﬂg:%l! &Ht

ATEAHT 21 PN BT Haars (A3 F) s geft 2

P
(A) 36
w5 B) 24
%3
_ D) 32
@ R

Qxrs
a
N
| 36 1 316\_?

1\

-

X
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39.Ina AABC, the sidesare AB=16cm, AC =
63 cm, BC = 65 cm, From A, a straight line
AM is drawn up to the midpoint M of side
BC. Then the length of AMis equal to:

AABC &1 3{ATE AB = 16 cm, AC = 63 cm, BC =
65cm gIA A BC & #tg g M & v
TS AT AM ATdt 81 AM & SFars aerae

- e
s, [(W)325em | | 1"+ catoest
I.5cm . o |
C

gcg 23.5¢cm
D

31.5cm
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40. G is the centroid of the triangle ABC,
where AB, BCand CAare7cm, 24d cm and

25 cm respectively, then BGis: .
fAa{s1 ABC &1 Bouds G 2, IUS! TTC AB, BC
312 CA ®a2l: 7 cm, 24cm 312 25 cm €1 BG &1

mt:

(A) 6= cm
(B)8§cm
(C)5-cm
2
!
Qs (D) 4- cm
—xy P AT 6
S S L
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41.In A ABC which is right angle at A and BC

8 »
is 5 cm.. BL and CM are medians. If BL 3;5 cm.
- then CM will be .
. A ABC &, it A Uz FFSIvfla § 3z fAad BC = 5
_\ &aft. 2, QY afed1t BL den cm &) deegae, afe
A 1 ¢ BL=="@dM. ¢ cm & seard fbash gft?
. i
B +Cm =S gc*- A) 25 aaft N
i’f Creo=S (B) Sﬁ e
ly TN (c) 10v2 &ft
: D) 45 &t
le;—§ 2 Lg\@ ( ) Q;




Maths By Pradeep Sir

y. 42. PQR is a triangle such that PQ = PR. RS

= and QT are the median to the sides PQ and
s PR respectively. If the medians RS and QT
inter- sect at right angle, then what is the

P > value of (PQ/QR)??
S - PQR 38 UTE &1 U A9 2 f5 PQ = PREIRS
[‘“” FRC=S5BCT ] o QT @dtel: 3OS PQ Gl PR UE ARSI 21
P B afe sfeAHIC RS TAT QT HABIVT Uz Ufdwda

&?_g E 5 el €, @ (PQ/QR)? BT ATA FATE ?
T \o

S
=)
o C)2 -
R (D) None of these

[4
PQ +PR*= co R
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43. G is controid of given AABC.GN = 4 cm,
GM = 3 cm, £BGA 90°, then find the length of

GC.
@ A fAs{w1 ABC 1 o 21 ON = 4 Aaft,
GM = 3 A, FaT ~.BGA = 90° £, at cc &l
S3dTE JTd HifAe ?

i (A) 6 cm.
M < (C)5cm.

(B)10cm. |

g D)9cm.
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44. In AABC, the medians AD, BE and CF at
G. then whichof the following is correct ?
AABC & H1EO® AD, BE 312 CF 3adfd ¢ Uz
At AR A AT AT ?

A; AD + BE +CF »SAB+ BC + AC)
B) 2(AD +BE +CF) > (AB + BC + AC)
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45. Consider the following statements:

1) The perimeter of a triangle is greater than

the sum of its three medinas.

2) In any triangle ABC, if D is any point on BC, then
AB+BC+ CA > 2AD.

Which of the above statements is/are correct?

fAsafafaa suat gz fdar Hifav:
. fbft Rar &t ulRamy 3adt dia Afeds sl & ahes

I%:Sgaﬁmcﬁ afRec R BEfATD 2, a1 AB + BC
+CA>2Aoiﬁn2|
(A) 1only
(B) 2only
(C)Bothland 2
(D) Neither1nor 2
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M, . ma,m3 47. In AABC, the medians AD, BE and CF
meet at O. If AD, BE, CF are 10, 24, 26 cm.

Avon: 4 ) ———then find the area of AABC. . .
' EXJS“‘(S'“— m)(Sn-n-)m-HABC A AD, BE 312 CF HAIfeASBIC U2 fATH €
D, BE, CF 10, 24, 26 &3t &1 @ AABC &1

Sm = Mi+mMma +ma l “ (X
1o + @y '

s (B) 180
M+ me = my (D) 170 Q\X\O\A%H

U\m" X MM \? \L:l
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A 48. In the given figure G is centroid of AABC
and BG= 13, GC = 9, BC = 5 then find the

value of AG?

@t ard anpfad A 6, A ABC BT Heab & 3T BG =13,

GC = 9, BC =10 2 a1 AG &1 HTal iTd HifAT|
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49. In the triangle ABC side BC is 10 cm and
G is centroid. BE and CF are medians to the
sides AC and AB respectively. If medians BE
and CF intersect at right angle then find the
length of AG?

AABC & w11 BC = 10 Al 3T ¢ Sogd 21 BE
31T CF Sl AT AC 3112 AB UZ AEASTC £
af? anfedssTC BE 302 CF HASIVI Uz yfdwde

< edl g al AT AG H HIaTs ATd Hell

vem — 4 (A) B
(B)10
C)I15

(D) 20 %\’\
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50. G is the centroid of APQR and medians

@ QT and PS intersect at right angle. If QT = 27
and PS =18 then find the length of RT?

T fA3{c PQR &1 Howas G ¢ 3 aNfeAdC QT 32

PS U~ T2 &I TSIV U2 ufdwde Hedl g1af?

(3 Qr=273MePs =18 At RT Ht Beard Aa B

A)10

(B Jor-an . an .

- 3
Ps= 1R _

18
) o= s &8

"U
I
-
e
2
_—
O
~—
N
o




[ Adkitder oF T 0'7{“]

(57 b al i
1 Ak
2 ST







YO0 D= Bor6E = Cowof

A

F .‘b, A0y < Be xoe - (oof
L'













g«o‘i P e pponolicud o Boriouectorr (227)cdq U’W@WMQ

lecumcend 2
R, o






(RSc=<A
[ ASE IR
LA =~ U
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55. O is circumcentre of AABC if z.BAC = 85°
¢.BCA = 80° find 2 OAC.

AABC B1Uf2&3% O 213f2 LBAC = 85°, LBCA =
80°dl LOAC 2-
(A) 60° (B) 75°
c (c)s8oe° (D) 30°

O+ +30=1R0
2o = IS
@ =35
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A 56. If O is circumcentre of AABC and 24BAC =
58° then find the value of 2 OBC?
af? ves fAa{e ABC &1 Ufdew O & 9T LBAC =

58°dd LOBC BT HATAFATE ?
A\ © (A) 29°
4
© +0+ \\¢ =10

AL se-cu (C) 48°
[@ - 3:{* \ (D) 58°
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A 57.Ina A POR, 2Q = 60°, PR = 146 cm. find the
circumradius of triangle PQR.
fA3(c1 A PQRA 2Q = 60°, PR = 146 A E, Ao
PQR B AZT Fa B AT E 2

"R (A) 7v7 em
- & (B) 7V3 cm
(C) 7V6 cm

7

<
&
1=
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58. Find the distance between incentre and
cir- cumcenter of a triangle whose sides

are 6@,8 an%o cm? e 2 . 3
Ch 6,8 10 €l 84
Had: 3?:' 3 asﬂaﬁ{amﬁgm

(A) V5
(B) V6
(C) 2V2
(D) V7
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60.Ina AABC, AB=17.5cm AC = 9 cm. Let's
D be a point on BC such that AD is
perpendicular to BC. If AD= 3cm. Then what
is the ratius of the circle circumscribing the
AABC?

A ABC & AB =17.5 @afl, AC = 9 Al AATaT BC TR
D fAg zausr £ f& Ap 18C afe AD 3 At € A

& % 2 AABC & Ufdey &l fAwar sita sel
*
R = &¥bxce B) 52.50
N gc 13.125
R = "“Sxﬂa D) None of these
= X
Easas, g0
Rle = 5o= s
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6. What is the maximum number of
circum-circles that a triangle can have?

vs Rw & dfds & yfds fFaa ulRga &
(A
za)z

C)3
(D) Infinite / 3i5id
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A 62. O is orthocentre of AABC if 2.BOC = 120°
find ZBAC
o fA3{e ABC &1 &aa &ew g1 Al LBOC = 120°,
o dl .BAC 2- A
(A) 135°
B) 90°
0
& < | (p) 60° .
Boc = 136-LA '
B C
Boc = \Ro-LA
180 = \¥0—LA

LA < 6o
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63. In a obtuse angled AABC, ZA is obtuse
and O is orthocentre. If ZBOC = 54° then find

¢BAC.
vs Afssvfta e Asc & A 3ufds Hor 2

I IAD| Headon ¢l dgejae, Afd LBOC = 54°

21 al .BAC faaT g ?
“ iii'ii
(c)136 Q
(D) N6
®
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7 64. If the altitudes of atraingles are 3,4,6.
Find the ratio of its sides.

¢ b faszft et & Aot Soal &t Seargai 3,4, 6 2
at 3A fA3{c 61 o3l &1 3(urd M-

A) 3:4:6
B < mm
a C) 3:4:] /2‘\
12

(D) None
?'[;(QK'?: = J L7\l1 Z KCx € A = _\{:\’\&XQ
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" 65. In a triangle two altiude are 4 cm and 12
£ 2t e\ f' 0 [ cm respectively and all the altitudes are
7 < hx <« Xk integrers. What could be the largest
1+ \Ahﬁz‘

| passibld length of the third altitude?
U fAc A a &3d 4 cm 3T 12 cm 21 Faft

AR P lxig mzliﬁaﬁmﬁ{fﬁmm
A) 4

1+ -

L’
b P, o LaC
+s =X C)E

I;Z&T««e (D)3
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66. In AABC, 2A = 52° and O is the
orthocentre of the triangle (BO and CO
meet AC and AB at E end F respectively
when produced). If the bi- sector of LOBC
and 2£0OCB meet at P, then the measure of
BPC is:
AABC &, £A = 52° 312 Ua fRa{1 &1 &a &ow &l
BO 3fl2 CO da Hael: E 3T F U2 AC Ud AB &
¢ id Jag Wy fdan iman 8)1af? coBc
M2 cocB & fRamad Pz fASAE, at .BPC 2 :

2Ag 124°
B) 132°
(C)138°
(D) 154°
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BO

67. A0 =8cmand OD =5 cm—s = %find the value of

OE”

af Ao =s@M 3z op = SM%:%tFﬁOESﬂHWYI

20
W B

(B) ZJ‘_TO

~ |20
© [2

(D) None
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68.If AO=8cmand OD =5 cm find BD-DC =
2 f2 A0 = 8 @3t 3T oD = 5 At £ a1 BD-DC

ghom|

(A) 60

ga) 65
C)130

(D) O




Maths By Pradeep Sir -

69. If AABC and AD 1 BC, P is point of AD if AB
=16cm,AC=15cm,CP=12cm is BP?

af2 fAsfs1 ABC 3R AD L BC, PfAds@ w2 2 a1 AD
gz AB =16 At Ac =15 Aft cp =12 At ¢ at
BP Z19M|

(A) 57

(8) V7

()47

(D) 67
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70. AABC is right angle triangle where £ABC
= 90° and BN is perpendicular to AC. Here,
AB=6cm., AC =10 cm. then find BN?

AABC U@ DI fRa{a & fAda LABC = 90° 2
31T BN, AC U2 &9 g1 38 AB = 6 Afl., AC =
10 At 2, at BN faan gom 2

YEX:

(B) 4.8

(C)9.6

(D) 4.4
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71. C is the mid point of AB and 4BAD is

equal to «CBE and £ECA is equal to 2DCB. If
¢E = 30°, Find D.

af? c, AB &1 #ey fasy ¢ 30T LBAD, LCBE &
312 LECA, .DCB & S2Ta¢ 21 3912 LE = 30° ¢, al
LD =?
(A) 60°
(B) 15°
(C) 45°
(D) 30°




Maths By Pradeep Sir

72. The sides of a triangle are 4 cm, 8 cm
and 10 cm. Find the length of the shortest

side of similar triangle whose longest side is
1I5cm?

v fRaga &t ofene 4 Aaft, 8 At 3z 10 At )
A AU [Aa{e Ht FaA Bt ofwn Far gl
fAadt Tad Sadt ofwm 15 At 21

(A) 4 cm [ @4t

(B) 8 cm [ &3t

(c) 6 cm [ &4t

(D) 9 cm [ @t
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73.Ingiven figure AD=6cm,AP=BP=3cm,
ZAPC = £4BPD and 4DAP = LEBP then find BC?
f2d A A3 & AD = 6 &ft, AP = BP = 3 &4,
¢APC = /BPD 312 .DAP = ZEBP t, dl BC &1
#ATel AT HIfAD 2
sA) 3 cm/ &4t

B) 6 cm/ @3t
(c) 5 cm/ &t
(D) None
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74.D is a point on side BC of AABC such that
ADIBC. E is a point on AD for which AE: ED =
5: 1. If 4zBAD = 30° and tan 2ACB = 6 tan DBE
then £ACBIis?

fAs{c1 AaBC Fl 3fviT BC W2 D U B faeg 2, &
AD, 3{<IT BC UZ &34 ¢l E, AD U2 U faeg ¢ 3
AE : ED = 5:1213af2 .BAD = 30° 3il2 tan 2ACB =
6 tan «.DBE&!, Al LACB=?

(A) 45°

(B) 30°

gcg 60°
D) 90°
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75. In a triangle ABC, AD is perpendicular on
side BC. E is the foot of perpendicular on
side AC from vertx B. AD and BE intersect
each other at point O. If AC = BO then find
¢ABC? .
fA3(c1 ABC & AD w1 BC U2 &d 1 3¢ AC W2
B & 31 1A &4 &I UTE ¢1 AD 312 BE TS
®! fdsg o uz wfdwde ®Hza g1af Ac =BO
, dl LABC &1 3ATa1 SATd HIfAD 2
(A) 30°
23) 45°

C) 60°
(D) 90°
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76. AD is perpendicular to the internal
bisector of ABC of triangle ABC. DE is drawn
through D and paraliel to BC to meet AC at
E. If the length of AC is 12cm. then the length
of AE (incm) is. .

AD fA3{1 ABC & £ ABC & Tdfes fgeimoias &1
&4 g1 DE, D & i&¢ 3R BC & HaAlae dairdl
aral ¢ fAad Ac &1 E w2 fAs aa&1 af? Ac $i
Sarg 12 A ¢ at aAe H Fard (Ff. A) Bast

grft 2

SHRSF
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77. Vertex angles of two isoscles triangles

are equal. If ratio of their height is 3: 4, find
the ratio of their perimeter-

& FAfgarg Rl & ofif Hor = &1 af
JaTehl HATSal &1 3e(aTd 3 : 4 ¢ al Iaid gfaAral

&1 3e[ard M-
(A) 6:8 (B) 4:3
(C)9:16 () KX
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78. ABCD is square, BF is the angle bisector
of LABO. OB.LEF, OF = 12cm, OE = 8 cm. Find
the area of ABCD.

ABCD U@ T3 21 BF, LABO &1 HAgaHTHS 2l
OBLEF, OF = 12cm, OE = 8 cm, ABCD &I
TGS Farsi-
(A) 576

(B) 676

(C) 625

(D) 900
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° IS _
79. In the given figure, if -— = — and PY = 18 cm,

then what is the value (incm ) of PQ ?

&t orf anpfad A, AR L = " qem py = 18 A @ At
PQ BT AT (Aft. A) T g ?
(A) 28
(B)18
(C) 21
(D) 24
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80. In a given figure DE || BC and EC || ND, AE:
EB = 4:5 then find EN: EB -

fée are @7 & DE || BC 9T EC || ND, AE : EB =
4:5 Al EN: EB -
(A) 5:9

G ER:

(C) 45

(D) 4:9
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81. In the given figure. if AD =12cm, AE= 8
cm and EC = 14 cm, then what is the value

incm) of BD?
g anpfa A, af Ap =12 Aft., A = 8 A,
daT EC = 14 A, €, at BD &1 AT (At A) &=

g2

(A) 50/3
(B)15
(c)s/3
(D) 44/3
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82. AB, EF and CD are parallel lines. Given
thatEG=5cm, GC=10cm, AB=15cm and
DC=18cm, find AC? .

AB, EF 3i12 CD TdiTode 2@ g1 fRarsrar 2 fH EG
=5 Aft., 6c =10 A, AB =15 A3ft. 3z DC =
18 At. ACHTHATAFATE ?
(A) 20 A1,

(B) 24 A3,

(c) 25 &4,

(D) 28 &4
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ar(AABC) l .
83.Let A ABC ~A QPRand T If AB = 12

cm, BC = 6 cm and AC = 9 cm, then QP is equal to:

JATAT A ABC ~A QPR 3z 222280 _ 9 213f? AB =

ar(APQR) 16

12 cm, BC = 6 cm MR AC = 9cmt.?ﬁQPm2

(A)16cm (B)9cm

(C)12em (D) 8cm
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84. In triangle ABC, PQ is straigth line
parallel to AC, such that area ABC: area
PBQ=3:1. Then CB: CQis equal to:

faseft fAa{e1 ABC &, AC & HaATore v Hiefl 2o
PQ 38 WaTE ¢ f&5 ABC PBQ 31 819%@ g, al CB:

CQ WA EFI 2
(A) 5 (V3+1)

—

(8) - (v3-1)
(€)=

()=
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85. In APQR points Tand S are on PQ and PR,
re- spectively, such that TS is parallel to QR.
HTQ=72cm.PS1L.5cmand SR = 5.4 cm.
then find the length of PT.

APQR &, fag T 3l s WaH2l: PQ 3T PR UZ 3
WerREfE 1S, QREFAGZ AR TQ=7.2¢cm,
PS = 1.8 cm 32 SR = 5.4 cm &, @l PT Hl Farz
SiTd &2

(A) 3.6cm

(B) 2.4cm

gcg 1.35¢cm

D)4.2cm
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86. In a given figure, AB||CD|| PQ, AB = 12
cm., CD =18 cm. and AC = 6 cm. then value

of PQ (incm.)
will be-

ResefRaAAs|IcD|IPQ AB=1233f,cD =
18 A3ft. daT Ac = 6 A, at PQ &1 AT (JAL.
) 2-
(a) =
(8) -
()9
(o) -
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87. In AABC, F and E are the points on sides
AB and AC. respectively, such that FE || BC
and FE divides the triangle in two parts of
equal area. If ADLBC and AD intersects FE at
G,thenGD: AG =7

AABC & AB 31T AC a{wT13il U2 water: fAg F 3R E
38 U ¢ & FE | | BC a2 FE fA9(w &I HaATa
Sa%e are & AN A RanfAa Hedt 21 afd
AD.BC 312 AD f@g G U2 FE B STl 2 A GD :
AG=7?

(A) V2:1

(B) V2-1):1

(C) 2v2:1

(D) V2 +1):1
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. AD 5 €0 BO
| — — | —— e— | — ')
88.In the given figure — = -, — = then =

Resefad > -2 = =g - sa$ifae?
()=
(8)=
(€)=
(o) =
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89. In AABC, point O is intersection of AB, BE
and CF it divides AD in 4: 3. If area of BOD
and DOC are 26 cm? and 13 cm?. Find the
area of AABC
fAs{w1 ABC &, fdsg O, AB, BE 312 CF &I HeTal
%%zrz AD &I 4: 3 3e[urd & fAanfAa
¢, af? fAs{@ BOD 3fi? DOC &1 JaFB&
ael: 26 3T 30 A, 2, Al AABC BT HABS
SiTa HifAA
(A) 52cm?
28) 56 cm?
C)54cm?
(D) None
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90. In the given figure 0 is in-center of A ABC and if

:‘0_‘; = %.-f;%z §thenz—‘;=?
af2 A A3 A 0, A ABC &7 3od:dow & :u’fz;_i - %g_g 23
2,aif)—‘r’mmmﬁfaz}|

(A)
(8) 5

(c)=

36

(D) None
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AF 1 BD 2

?: In the given figure — = -, — = - then find the value of
£ AF 1 BD 2 CE
Resefad - - — = -8 dl . S13E S1a SifAe ?

FB 2 DC 3 FA
In the given figure == = 2 = = 2 then find the value of ==

D 5'BE 2 OF

ResefRad > - = = 28, a2 S13E Sa $ifAd 2

cD 5 BE 2 OF

21 31

(c) 175 (D) None
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92. In A ABC, X is a point on AB such that AX = 2
BX = 4. AC = 7and BC = 5 find CX. A ABCH X USH
fdeg AB U2 3@ R 2 &5 Ax = 2 @l Bx = 4 A3
afz Ac =7 @ft. 3R BCc =5 &AM, @ cx &1 A=

aarnsiti

OF
(B) 6
(Cc)3
(D) None of these
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93. AD is the median of A ABC if AO: OD=5:3
find the AE: EC.

(A) 5:6
(B) 5:8
(C; 6:5
(D) 3:4
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94. In the given figure AG:GD =3:4,BD:DC =
4:7, AE = 24 cm then find the length of CE.
23 91 A3 & AG:GD = 3: 4, BD: DC 4: 7, AE =
24 A3t ¢, At ce STa HfAA 2
(A) 44cm
(B) 88cm
(C)84cm
(D) 85cm
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3 AE

95. In the given flgure —_—=,— == then find the value of
5 BE

AD
OF

Remefad= - = =A@
()
(8) -
(€)=

(D) None
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96. In the given figure AAPJ, PR: RJ =5: 3, AQ
: QP = 3: 5. If area (APOJ) = 25 cm?. Find area
of AAPJ

22 3@ AAPJ &, PR : RJ = 5:3, AQ: QP=3:5 §,
af2 APOJ BT AAB 25 cm? g, al AT APJ &I
TGS ATd HifAd|

(A) 65
(B) 78
(C) 60
(D) None
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97. In the given figure AP=6cm,CP=5cm,
PD=2cmPE=1cmand PF=3cmthenBP =
sResefRAaA AP =6 Aft., cP =533, PD =
2 @ft., PE = 1cm AL, 32 PF = 3 €, @ BP &1
#ATel AATd HifAA 2
(A) 5cm
(B) 6cm
(C)7em
(D) 8cm
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98. In AABC, AO: OE=5: 4, CO: OD = 3:2 then
find BO: OF = ?

af2 fAs{st AABC, AO: OE = 5:4,CO: OD = 3:2 §,
dl BO : OF SiTd HifAAd 2
(A) 38:7

(B) 36:7

(C) 29:4

(D) 4:7




M
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99. In the given figure 0 is in-center of A ABC
and if 22 = ngtheng—gz rafRIARTAHA 0,4

OF 4'0D
v A0 _7 €O _5 BO
ABCWW.QW%WOE =<,o0= 32,310me
ita HifAA)
61 65
(A)g (3)5

(C) % (D) None
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100. In AABC,D.E and F are lie on BC,CA and AB

respectively. AE = AF =CD = 2,BD = CE =3 and BF =
5. If DE and CF intersect of 0.

- oD ocC
Find = and —

fssr A ABC #, D, E 3R F %#W: BC, CA 3R AB WX Fua ¥
AE=AF=CD=2BD=CE=33RBF=5¢%13% DE 3k

CF e 0 W wfaedz s §, ar - sk - wa Aifara

(A) 5:3,19:2 (B) 5:7,19:31
(C) 4:3,17:21 LTLE
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101. In the given diagram AB || GH || DE and
GF || BD || HI, 2FGC = 80°. Find the value of
<CHI. f2e e 3 & af? AB || GH || DE 3112 GF ||
BD || HI, ZFGC = 80° §, @l LCHI &I AT AT
&ell

(A) 80°
(B) 120°
(C)100°
(D) 160°
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102. In the adjoining figure, a star is shown.
What is the sum of the angles A, B, C, D and

ﬁcmﬁaﬂamf?.amwéa’laﬁmm B, C,
D 3112 E &1 3191 AATd Bl

(A) 120°
(B) 180°
(C) 240°
(D) Can’t be determined
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103. In the figure find x. x &1 AT SATd &2
(A) 60°
(B) 50°
(C) 45°
(D) 30°
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104. In the figure find x. x &1 AT STd &2
(A) N0°
(B) 120°
(C)105°
(D) 90°
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105. In the given figure PQ is parallel to RS, £
AEF = 95°, 4BHS = 110°, and 2ZABC = x°. Then
whatis the value of x ?

fee J1e 3m& A PQ, RS A TATAT &, LAEF = 95°,
£BHS =110° 312 LABC = x° &, Al x BI AT FATE ?

(A)15
(B) 25
(c) 30
(D) 35
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106. In the figure find x and y.
X, y &1 ATl SATd He
(A) 40°,95°
(B) 55°,95°
(C) 95°,40°
(D) 90°,45°
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107. In the given figure lines AP and OQ
intersect at G. If ZAGO + /PGF = 70° and
£PGQ = 40°. Find the angle value of £PGF.

3 A A7 & AP 3R 0q, 6 fasg ©2 Hea ¢
IITE LAGO + LPGF = 70° 312 .PGQ = 40° @1 &t
£PGF &1 #ATel SATd &2

(A) 35° (B) 40°
(C) 60° (D) 70°
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108. Find the values of x and y?
x 312 y 1 AT HATd Hel

(A) 70°,65°
(B) 65°,70°
(C) 50°,72°
(D) 72°,50°
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109. Find the values of xand y?
x 312 y 1 AT HATd Hel

(A) 60°,100°

(B) 65°,105°
(C)105°,65°

(D) 100°,105°
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10. Find the values of xand y?
x 3T y &1 AT ATd Hel
(A) 75°,90°
(B) 90°,75°
(C) 70°,95°
(D) 95°,70°
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NL.Find thevaluesof x, yandz? x, y 32 2 &I
#ATel SATd B

(A) 127°,50°, 50°
(B) 130°,50°, 50°
(C) 120°,50°, 50°
(D) 50°, 50°,130°
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N2. Find the values of x ?
x &1 AT STd He
(A) 50°
(B) 55°
(C) 45°
(D) 60°
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113. Find the values of x ? x &1 ATl STd &He |
(A) 120°
(B) 105°
(C) 125°
(D) 100°
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114. Find the values of x ? x &1 AT SATd Hel
(A) 75°
(B) 60°
(C) 45°
(D) 65°
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115. Find the values of xand y?
x 3T y &1 AT ATd Hel
(A) 79°,117°

(B) 87°,115°

(c) 81°,121°

(D) 73°,105°
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116. Find the values of xand y?
x 312 y 1 AT HATd Hel
(A) 71°,32°
(B) 73°,34°
(C) 69°,31°
(D) 72°,31°
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N7.Find the values of x ?
' CAGIGIGE T4

(A) 55°

(B) 53°

(C) 56°

(D) 51°
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118. Find the values of x ?
' CAGIGIGE T4
(A) 79°

(B) 81°

(C) 89°

(D) 84°
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N9. Find the values of x ?
x &1 AT STd He
(A) 142°

(B) 141°

(C)143°

(D) 144°
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120. In the fig given below PQ||RS||TU]|IVW, PR
=10cm,RT=22cm,TV=16cm, QW =42cm
then find QS?

fRe e @7 &, PQlIrRSIITUllVW, 3T PR = 10
cm, HVil RT = 22 cm, VT TV = 16cm, 3l
QW= 42 cm 3T QS BT AT SATd Hell
(A)15cm (B) 8.75cm

(C) 22.5cm (D)12.5cm
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121. In the given fig AB ||CD|| EF|IGH, if BH =
1IBB8cmAC=2Icm,CE=12cm, QR =18 cm
and RS = 21 cm find the value of EG + PQ +
DF? f3e J1e 3 & AB |ICDI| EFIIGH 3{FT BH =
188 cm, vl AC = 21 cm, VT CE = 12cm, 3l
QR=18cm HUWIT RS = 21 cm, EG + PQ + DF &1

ATl SATd e ?
(A) 91.5 (B) 93.5
(C) 97.5 (D) 99.5
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122. In the given fig below AB ||CDJ| EF, if AB = 30

cm. EF = 50 cm, AC =% CE and BD is x cm less

than DF then find €D = ? &fid Re Jre faa & AB ||
CD || EF T2 3T AB = 30 cm 3{12 (AT EF = 3 50 cm,
AC = CE, 3{WT BD, 3{wi1 DF & x Aft &1 &1 aa afon
CD &1 ATl FATEFM ?

(A 27—Ocm (! ﬁcm
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123. In the given figure O is the centre of the
circle. AC = BC and 2AOB = 120°, then find
the value of 2CAO.

fa2 312 A3 A 9o &1 Fow £1 AC = BC dAT LAOB
=120° & d LCAO &1 AT EI9T-

(A) 30°

(B) 45°

(C) 60°

(D) 65°
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124. In the given figure O is the centre of the
circle. 2 OAB + 2 OBA =100°, find the value of
LCAB + LCBA.

f3A 1A A7 A g &1 Sow 21 LOAB + LOBA =
100° 1 a .CAB + 2CBA &1 AT EI9T1-

(A) 50°

(B) 40°

(C) 60°

(D) 55°
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125. In the given figure O is the centre of the

circle, then find the value of 2BCO.

@2 A A7 A ga &1 ew &, al LBCO & ATA
Sira Hifee ?

(A) 50°

(B) 60°

(C) 70°

(D) 140°
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126. AB is diameter of the semi-circle. Find
the value of BDC.

AB TTH &1 HF#gd &1 2BDC &I ATel-

(A) 130°
(B) 110°
(C) 90°
(D) 100°
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127. In the given figure, if ZAOP = 75° and
LAOB = 120°, then what is the value of
¢<AQP? FUe far e A3 &, af? LAoP = 75° 30
¢AOB =120°al ,AQP a2 ?

(A) 45°

(B) 37.5°

(C) 30°

(D) 22.5°
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128. The centre of circle is O. AC and BD are chords of
circle which intersect at P. If ZAOB = 15° and 2APB =
30° then tan? £APB + cot? 2.COD is~-

U Jd &1 dow. &1 AC UE BD Jd &6l Stare g &t p uz &redt
21af2 LAOB = 15° 312 LAPB = 30° @l tan* ZAPB + Cot?
£COD &1 AT g-

(A) 3 (B) -

4 10

(O) ; (D) —

3 3




- Maths By Pradeep Sir

129. An equilateral triangle ABC and a scalene

triangle DBC are inscribed in a circle on same
side of the arc. What is «.BDC equal to ?

Us HAAE fA9fw1 ABC 32 va fAwsrang fAs(w1 pBC
U gd A 919 & U &l aw sifdsa fbe aird €1 .BocC

fSadaerae e ?
(A) 30° (B) 45°
(C) 60° (D) 90°
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130. The centre of the circle which passes
through points A, Band C is O. If ZBAO =
30°, «BCO = 40° and £AOC = x°. Then find
the value of x. fdsg3iT A, B @21 ¢ & I[wieal a1
TS g &I dow & AT LBAO = 30°, .BCO = 40°
T LAOC = x°, x BI AT FATE ?

(A) 70° (B) 140°

(C) 210° (D) 280°
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131. In the given figure O is the centre of the
circle and ABJ|CD. If ZADC = 25°, then find
(AEB- A A gaHT SO AR AB|ICD &
af? LADC = 25° &1, al LAEB STd HifAT-

(A) 45°

(B) 55°

(C) 50°

(D) 40°
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132. In the given figure O is the centre of the
circle. ZROS = 44° and RO is the angle

bisector of ~.PRQ, then find the value of
ZRTS.

3 A A7 A g &1 Sow 21 LROS = 44° qAT
£PRQ BT HAATZHTHAS RO & dl LRTS &1 ATal-

(A) 46° (B) 64°

(C) 69° (D) 68°
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133. AB is a chord of a circle in minor
segment with center O. C is a point on the
minor arc of the circle between the points A
and B. The tangents to the circle at Aand B
meet at the point P. If ZACB = 102°, then
whatis tg_g n;le_ssure o%; LAPR? (

AB, O gass (minor
Segment) & Hlar gac, ?;?Im pFdladsga
& &Y U9 Uz U fdg A 3ife B ga &t el &t
fag p we fAedl 1 afd LAcB =102° €, &t 2APB

&1 ATY SATd He
(A) 24° (B) 23°
(C) 27° (D) 29°
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134. Inthegivenfigure, 2 QRU=72° 2 TRS = 15°
and PSR = 95° then what is the value (in
degrees) of 2 PQR?

&t o1F 3pfad A, LQRU = 72°, LTRS = 15° dAT
£PSR = 95° ¢, dl .PQR &1 AT (F3ft) AT g 2
(A) 85 (B) 95

(C)75 (D) 90
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135. In the above figure, YAX is the tangent
on a circle having centre O. If ZBAX = 70°
and 2 BAQ = 40°, then what is the value of
ZABQ?

IR a3 &, vax ga &t fAae o 2, ef
2@ § af? .BAX = 70° 32 4.BAQ = 40° §, &t

(ABQ fFad aeraz g ?
(A) 20° (B) 30°
(C) 35° (D) 40°
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136. Radius of two cocentric circle is 13 cm
A and 8 cm. AB is the diameter of bigger circle
SN and BE is the tangent of smaller circle and
touches smaller circle at point D. Find the
length of AD.
3 Aol gl &t AT Haer: 13 A, qen 8
Aaft. €1 AB G2 J9 &1 ATH € 9T BE BIE g U2
mef?mé’aanmég%ﬁuo fasg uz zef wedl
g1 AD &t Baarg A ?
(A) 20 &,
23) 19 &A1,

c) 30 &4,
(D) 3134,




e i Maths By Pradeep Sir i

137. In the given figure O is the centre of the
circle. Line UTV is tangent to circle at T. VIR =
52° and PTR is an isoslece triangle such that TP

=TR. Whatis the value of x +y + 2?

fe e fAa & ga &1 Few 0 1 2@ UTV Fa i el
¢HT T U2 2, LVTR = 52° 312 fA3({<A PTR TS HATGETE
R e, savsrefE P =TRE-

X+ 2y + L2 mmz ?
(A) 175° (B) 208°
(C) 218° (D) 250°
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138. Tangents PT and QT are drawn on a circle of

radius 5 cm from point T which is 13 cm away
from the circle. What is the length of AB?

fFdi g raAo s Afl. AT aS ga & Sow A13

aaft. gz ¢ =ef 2@t pr 3 QT 3k i+t 1 21 AB
&l soard fbasf g ?

(A)-l:-:1 cm (B)%‘l cm

“w W 2
(()13 cm (D) = cm
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139. Let PAB be a secant to a circle intersecting

the circle at A and B. Let PT be the tangent
segment. If PA = 9cm and PT =12 cm, then what
is ABequalto?

#Tel SHAT PAB U ga 6t ve Bes 2o ¢ Wil ga &)
A 32 B Uz ®redt 21 st Sifae pr el 2@mEz

(EAz @A) 21afRPA=9cm 3R PT=12cm ¢, &t

AB f&ad aeraz 22
(A) 5cm (B) 6 cm
(C)7em (D) 9cm
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140. A circle is inscribed in a quadrilateral ABCD
touching AB, BC, CD and AD at the points P, Q, R
and S respectively, and 4B = 90°. If AD = 24 cm,
AB = 27 cm and DR = 6 cm, then what is the
circumference of the circle ?
P, Q, R 31T s f@g3il uz ®Harer: AB, BC, CD 312 AD &1
zef e gu Us aqafd ABCD & ftae ve gd
FSTA1 ATAT ¢ aAT 4B = 90° 81T AD 24 A, AB 27
At sizor =6 A 2, A guHlaRfd T ?
?\) 20m

B) 18n
(C)15n
(D) 12m
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141. A circle touches the sides BC of AABC at D
and AB and AC are produced to E and F,
respectively. If AB10cm, AC=8.6 cmand BC =
6.4 cm, then BE?

U® g AABC &1 BC 3T U2 D & el sear 2 AB @
AC & el E dAT F a9 9! Fa1a1 Iran af2 AB =
10 @3t Ac =8.6 Aaft. 3t BC 6.4 A1 2, A1 BE=?
(A) 3.2cm/ @3 (B) 3.5 cm/ @4.

(C) 2.2 cm/ &4, (D) 2.5 cm/ @4t.
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142. In the given figure, PQRS is a square
inscribed in a circle of radius 4 cm. PQ is
produced till point Y. From Y a tangent in drawn
to the circle at point R. What is the length (in
cm) of SY?

al g &, PQRS, 4 . A 1S v A A
3ifdsa a9 21 PQ &Y vmmmtgauzv
A fasg R Uz ves el & fift arft 31 sy

(Fft.) AT ?

(A) 410
(c)6v10
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143. Two circles touch each other externally at

point P and AB is a common tangent which
touches them at point A and B respectively.
Find the value of 2 APB.

2! g9 v gae &1 p faeg ue angl Tl ®ed ¢ aam A
ves Hieft 3srafates zef 2an @ ot 3¢ warer: AT
faegai w2 Tl wedl 21 APB &1 #Ta1 219T1-

(A) 45° (B) 90°

(C) 80° (D) 100°
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144. Two same circles of radius 5 cm has a

direct tangent AB and a transversal CD which
touch circle at A, Band C, D respectively. If CD =
24 cm then find the length of AB (incm)?

5 A1, fAa a1 3 TATa gal & v Hielt 39rafars
zqef 2@ AB den vas fAds Jarafas =ef2@rcep 2

il gal &1 wael: A, Bd C, D W2 Tef &edl 21afd co
= 24 M. A AB Hl Farg (A1, A) Fira HifAvl

(A) 27 (B) 25

(C) 26 (D) 30
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145. A circle of diameter 8 cm is placed insuch a
manner that it touches two perpendicular lines.
Then another smaller circle is place in the gap
such that it touches the lines and the circle.
What is the diameter of the smaller circle?

ScMATHASITH JasaVSRZA AT B aga
gzaqe &a ansl &t =ef sear 21 fbe va 3=

s BieT ga e =ial & 38 v 7o I ¢ &
ag el 23 3T g @) wef ®ear 21 B g9 &
ATHATATE ?

(A) 4(3 —V2)cm

(B) 4(3 - 2V/2)cm

(C) 8(3 - V2)cm

(D) 8(3 — 2V2)cm
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146. A sacant PAB is drawn from an external

point P to the circle with centre O, intersecting it
atAand B. f OP=17cm, PA=12cm and PB = 22.5

cm, then the radius of the circle is:

faseft arg fAg p & dow a1 ga aa it o1 Afdast
PAB, g0 ®! fdg A 3ilz B w2 ufa=dRa wedt 21 af?
OP=17cm,PA=12cm 3RPB=225cm ¢ al gd

&1 A sira $ifae)
(A) V19 cm (B) V17 cm
(C)3VZcem (D) 2V3 cm
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147. If PA and PB are tangents drawn to a circle

with centre O at A and B from external point P
such that 2 APB = 78° then £OAB is equal to:
aRRpasizPeag AP A BT IS qa & AT A 32
B Gz it orf zqef 2@t €, vt sa wee 2 &5 APB =
78° 2, @ LOAB &1 ATl ATd B2

(A) 12° (B) 29°

(C)39° (D) 36°
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148. From an external point A, two tangents AB
and AC have been drawn to a circle touching
the circle at B and C respectively. P and Q are
points on AB and AC respectively such that PQ
touches the circleatR.If AB=11cm, AP=7cm
anc; AQ = 9 cm, then find the length of PQ (in
cm).

t!a.iqauz.a;?ﬁgAa,z’ImafmAa 3 AC
st orf €, o water: AT B 3 ¢ w2 gu & wef
®edl g1 AB 312 AC Uz fag P 3T Q HaHel: 38 USKR
fRa € & pQ gu &) fag R uz el wedt 21af? AB =
Nlcm, AP =7 cm 312 AQ = 9 cm &, dt PQ &t Farg

(B, A) sra w2
(A; 6 (B) 8
(c)7 (D)5
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149. In the figure below, rectangle ABCD is
inscribed in the circle with centre with centre at

O. The length of side AB is greater than side BC.
The ratio of the area of the circle to the area of
the rectangle ABCD is i :V3. The line segment DE
intersects AB at E such that the 2£0DC = 2 ADE.
The ratio AE: AD is fae=1 @3 & v 3maa ABcD
fA@a®1 &ow 0 21 3T AB & Haars ofTBC A

2130 & SABS ddT HTAd & AABS BT He(ard m:
\i?llézawwz DE, AB ®! E U2 3& g &Ieal ¢ &
£ODC = £ADE Al AE: AD T 3{[qTd &1 191 ?

(A) 1:v2

(B)1:V3

(C)1:2

(D) 122
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150. Two circles, each of which passes through
the centre of the other, intersects at points M

and N. A line from M intersects the circle at K
and L, as illustrated in figure. If KL = 6 cm, com~-
%ute the ¢::'_’:ac:2 03'5 Aal_(’%.a ¥ i

Ch- M d2TN
w%%‘uﬁa@nmaﬁm?mqﬁaﬁx
aen Lttzfia‘cﬁgluﬁxt = 6 At & at FRafT KLN &
AABS ATd |
(A) 6V3 cm?
(B) 9V3 cm?
(Cc) ;\/3 cm?
(D) 8V3 cm?
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151. In the given figure, PQRS is a square whose

side is 8 cm. PQS and QPR are two quadrants. A

circle is placed touching both the Quadrants

and the square as shown in the figure. What is

the radius of the circle?

?vrfstrqsﬁa?, Pqnég}aa:frtf&%ﬁajmaaagé
| PQS 2T QPR AT €I Th

aralt aqel e 331 af :ﬁq el &2 é'gra f&

Arpfa A gefar I g1 ga 1 A an g 2

(A)1/2

(B)1/4

(I F:

(D)1
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152. In the given figure, PT is a common tangent
to three circles at points A, B and C respectively.
The radius of the small, medium and large
circlesis4cm,6cmand 9cm. O,, O: and O, are
the centre of the three circles. What is the value

in:;:gm)ofl’ca; Pa—— i
Ipia A, PT a2 B2l A,
B dT C U2 Il of Ta 21 BI2, ;e e
AaA a2 gl & A 4 dl. 6 A+ft. vd 9 At 210,
o,agno,,zﬂa’fqa‘féiérailpcmm(mﬁ.ﬁ)
AL ?

(A) 18V6
(B) 9V6
(C) 24V6
(D) 15V6
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153. Two chords 2a and 2b of a circle are
perpendicular to each other at a point they meet. If
the distance between the centre of circle to this
point is ¢ (c < radius of circle) then what is radius of

ircl
me &t 2a mzbmﬁamtmmgw
awa atell oftare gl yfdBe secdt &, aR qa &
R H1 A 2 (c<« @S A=), a?qaﬁﬁunt’

b4l
(AJa+b+c (B)\/azl: -

(C) \'azv+zb2-c2 (D) \/azﬂ;z +ct
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154. In the given figure, MNOP is a square of side

6 cm. What is the value (in cm) of radius of

circle? @ 31F 3gsfa A MNOP, 6 At ofwTT aTST v
Ff21ga St A &1 amE (Ff. A) =g 2

(A) 4.25
(B) 3.75
(D) 4.55
(C)3.5
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155. In the given diagram. radius of larger circle
is 5 cm and an another circle touch larger circle
at point P and passes through it center 'O. PS is
chord of larger circle which cuts. Smaller circle
at point R. if OR is equals to 4cm then find the

PS.
AR gadl A siaarzaAvras Bleigar
wm:mé@nmtlammmaqmgratl
fAar ps BIR ga &I R U2 H1Edl 21 OR = 4cm @l SP
CIGE T4

A) 9 cm /&3,

ga;lzcmlﬁ?ﬁ.

(c) 6 cm /&4,

(D) 8V2 cm /&4,
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156. In the given figure, CD and AB are diameters of
circle and AB and CD are perpendicular to each
other. LQ and SR are perpendiculars to AB and CD
respectivety. Radius of circle is 5 cm, PB: PA-2:3and
CN:ND=2:3. What is the length (in cm) of SM?

& 1€ 3@ A cD a1 AB § & TH € 9T AB dAT CD
U e U2 Had £1 LQ dAT SR a2l AB T CD W Had
gIga St AT s Al 2, PB: PA2: 3FATCN : ND = 2:3 2|
sMm Bt Faard (A A) T g ?

(A) (5\/‘3) -3
(B) [(4V3) -2
(O) [(2V5) -1
(D) [(2V6) — 1]
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157. In the figure below, a circle is inscribed
inside a square. In the gap between the circle
and the square (at the corner) a rectangle
measuring 20 cm. x 10 cm. is drawn such that
the corner A of the rectangle is also a point on

the circum- ference of the circle. What is the
radius of the circleincm. ?

22 A A= & 3maa AQPR (20 x 10) & &t a4
ABCD & 3iavfa ga &l fAvan sita &2l ?

- zmﬁ:
) g =
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158. In the given figures AD is a straight line. OP

is perpendicular to line AD and O is the centre of
both the circles. If OA = 20 cm, OB = 15 cm and
OP = 12 cm, then what is the length of AB? 3U¢
fae are faa & AD @Iee 24 €, OP 2% AD W2 aa B
312 aYeil gl &1 How 81afR 0A = 20 Aft, 0B =15
aaft. 3z op =12 Aft. At AB & Feard fhasft g 2
(A) 7em (B)8cm

(C)10em (D)12em




e 1 Maths By Pradeep Sir i

159. D, E and Fare the feet of the perpendiculars
from the vertices A, B and C. respectively, of a
triangle ABC. If angle BED and angle BFE in
degrees) are 24 and 110. respectively, what is
the measure (in degrees) of angle EBF?

vs Rt ABc A 2fid A, B3R c A w2l D, E 3N F
&dd & UIe g1 af? &or BED 312 H1uT BFE (3721 &)
a2l 24° 3T N0° £, at BT EBF &HT AT (321 A)
faangmn?

(A) 55 (B) 67

(C) a6 (D) 86
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160. The sum of the internal angles of a regular
polygon is 1440°. The number of sides is:

TP HAAGEHA & Hiafes SN &1 TT 1440° 2
a3t &6t T fbasht g 2

(A)12

(B) 6

(c)s

(D) 10
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161. The ratio of sides of two regular polygon are

I: 2 and the ratio of their internal angle is 2: 3,
what are the number of sides of both regular
polygon.

& Faepel B omsl &1 eura 12 ¢ 3R IaH
diafes Sl & dta &1 ysgura 23 21 Al 35 el

aEITon 61 aforsit Y Fiea warel: fasft 2 2
(A) 6,12 (B) 5,10
(c)as (D) 7,14
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162. If number of diagonals of any regular

polygon is 14, then value of each interior angle
of polygen is.

af? feft Terage[a A RAwol &t w14 ¢, at 33
TEHA & UAS HTerifed HIVT W1 ATel Z191 ?

(A) 120°

(B)128§°

(C) 13s37—°
(D) 140°
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163. If the measure of each exterior angle of a

regular polygon is (Sl%)o, then the ratio of the

number of its diagonals to the number of its sides is:

TS HA-AEHA & UAS agd SO B A (512) 213>
Aol &1 Zizn 3 st afesil & e &1 seara &
g?

(A) 5:2

(B)13:6

(C) 31

(D) 22
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164. If each interior angle of a regular polygon is

(128 ) then what is the sum of the number of
its diagonals and the number of its sides ? Tfd

fseft Forager 1wl siafds Hivr (1282) 2, A

mﬁmﬂﬁmmmmmﬁmm
APTEATE ?

(A)15

(B)19

(C)17

(D)2
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164. ABCD is a trapezium where AD | BC. The diagonal
AC and BD intersect each other at the point 0. If A0 =
3,0 =x-3,D0 =3x~-19and BO = x - 5, the value of
X is-

ABCD U@ daiesad ¢, fAad Ap || BC 21 fdsof Ac 3z BD
UH-gHe B fdog R weER Hed g1aR A0 =3,co=x -
3,D0 = 3x-19 3R BO=x 5, A x BT AT FATE ?

(A)-8,-9

(B)8,9

(c)-8,9

(D)8, -9
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166. If ABCDEF is a regular hexagon, then what is
the value (in degrees) of LADB?

afé ABCDEF U® HAUCHA g, dl LADB &I Hla
() Aaarg?

(A)15

(B) 30

(C) a5

(D) 60
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167. In the adjoining figure there are two
congruent regular hexagons with side 6 cm. 2

1é 3npia A 3 Fafraa T2 & wldas Ht o6 2

What is the ratio of area of ABDF and APQR, if P,
Q and R are the mid points of side AF, BC and

DE?

al Sarsil ABDF : APQR & SIAGS! &I &1
ZI9N, AEI P, Q, R Ha12l: DE, AF, BC B A fdog 2 2
(A) 6:5 (B) 7:6

(C) 4:3 (D) 121
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168. In a figure AE = BC and AE || BC and length of
AB, CD and ED are same then if ZA =102°, 4.BCD

fae Ire @7 & AE = BC @1 A€ || BC a2 diat ofaTe
AB, CD dTED &arg A
&1 AT SATd Het

(A) 138°

(B) 162°

(C) 88°

(D) zaHA A H1E Al
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169. An equilateral triangle of area 300 cm? is

cut from its three vertices to form a regular
hexagon. Area of hexagon is what percent of

the area of triangle?

vs HHAarg R fAasT daws 300 M2 g, &
Iaa disl 2ftel & ves HFuTHw Tarra & fSe Hren
ATl 21 923 B AABe A & Aa%B e &1 fbden

ufderag?
(A) 66.66% (B) 33.33%
(C) 83.33% (D) 56.41%




